DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—

9) 6954 =— 6 = 6 1.74 -6 =
92) 22799 = 3 = 7 1918.6 = 2 =
93) —5.764 = 4 = 108) 37.458 =9 =
9) 312.04 = 4 = 109) 12525 =5 =
% 81.32+2= 10 —4579 + 5 =
96 —37.68 -4 = 1y —3499 =5 =
97) —04.8 =~ 2 — 112) 894,24 =9 =
98) —32.249 = 7 = 113) 509.92 =8 =
99 —92634.9 = 3 = 14) 48293 — 7 =
100 —32.908 =4 = 15 94.68 + 9 =
) —173.2 =1 = e 9,104 =1 =
102 16.97 =10 = 1 61360 + 8 =
103) 29,178 -9 = 18 —55.692 + 6 =
101 —40124 =7 = 19 —70152 + 8 =
105 644.4 =— 10 = 1200 142,72 =8 =

Mathematics: Division - Level 6 - Horizontal - Set 1
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